A
>k 23 WAGNER

B &N AR

B e

P ©

[C10011B

1
AR « i - MRS T ERKEET2HR/HVET, 2024.02



A
oF 23 WAGNER

POS i i S TEAM fii5
1 344205 | NV =R 1 68,400

2 9905111 [~FPo—7 X vl 5 230|M5 X 20

3 9905112 |~FHo—7hl 2 280[M6 X 20

8 340302 |mZRITA4L T TL—b 1 910

9 341353 |HfH~ULh 1 8,400

10 341352 | F—U— 1 21,600

13 341706 (2 7h7 vk TU— 1 68,400|O Pos.14,15,16,17,18,19,20,21
14 3056464 |2 F w7V O (1) 2,300|75 X 2.5
15 9970532 |A AL —v O ) 2,900[40 X 70 X 10
16 341324 |[f T vk O ) 18,700

17 9960151 |R—L_7YL s O ) 4,000(6207

18 9922518 |[AF AV O (1) 340[35 X 1.5
19 9960431 |[m—F<x7V 2 O ) 34,500|NUTR25

20 9922506 |AF >V O ) 460[25 X 1.2
21 9960432 |m—5—~_FUL O ) 18,700|NJ202

24 9900315 |/S# 7R 4 210[M6 X 25
25 9920806 |V v — 4 250

26 340225 A AR T T T 1 96,900

27 1 ke A< Al
28 341445 (VA —rF a—7 1 410

29 288317 |0V 1 190(6.07 X 1.78
30 288309 | AT /LR 1 820

31 341446 W AFa—7 1 460

32 341307 |[H A=Ak 1 820

33 341309 [AANABL T HN— 1 30,100

34 3050858 |V v— 6 200

35 9906007 |/~ ARV 6 380[M5 X 45
36 341348 | AANT —P 1 3,400

37 9971146 |0 Vv 1 460[16 X 2

38 341349 |AANFYvTS 1 1,400

39 340490 | — 1 4,000

40 9903317 |5 A8/l 2 180|M4 X 12
41 9953146 |z H— 1 18,300[65  F

42 252337 |=mrFoY— 1 17,500(50 p F

43 340397 |77v ® (1) 8,400

44 340398 [Ahy UL ® (1) 670

45 340399 |77 A — o (1) 11,000

46 9921504 | ATV T Ty p— YO 190{M4

47 9900737 | VEIL/ AL @ (4) 200|M4 X 6

48 340204 |[E—X—Fvh 1 190,000|@ Pos.43,44,45,46,47
50 340354 [ A=A vk 1 2,600

51 252486 |EFEa2—F 1 16,000(3P X 4m
52 9951074 |ma—Kor77 1 1,400

53 9951075 |2—R7Z7o 7 F b 1 280

54 1 AR AN AT
55 9953681 |EIFRAA T 1 31,500

56 2231000 |OA 75 75— 1 2,700

58 9971365 |0 V2 1 380[9.25 x 1.78
59 340222 [TV T vk 1 28,700

60 10861 |A7UL Y 1 410

61 10858 |75 1 280

62 10859 [Rhy VUL 1 800

63 341219 |[=vbhm—n 7 1 3,600

64 1 A AT
65 9900524 | +FRAFHILZ YAl 2 240[2.9 X 6.5
66 344332 [F—LTL—h 1 10,200

2 LC10011B

AR « i - MRS T ERKEET2HR/HVET, 2024.02



A
>k 23 WAGNER

R TER

[C10012B

3
AR « i - MRS T ERKEET2HR/HVET, 2024.02



A
oF 23 WAGNER

POS RS sl B FEAM ik
1 341241 | AFFHRLAR X 1 18,700

2 341316 |Fwros— (1) 1,400

3 9971486 |0 V> (1) 3,400| &

4 340339 WA Fa—7 1 1,400

5 252279 |NILT AT 1 28,700

7 341336 |7V 1 620

8 341331 [|[FF9AF v IU v p— (2) 550|H 26 X 23 X 1.5

9 340251 W AFpEob 1 38,700

11 9990865 |PRifEx v 1 1,200

12 344211 | A PN —2R 1 67,000

13 169248 |VU—7 317 1 20,300

14 9971395 |0 Vv (1) 97010 X 1.25

15 340241 AT 77 5% vk « A —MMt 1 13,500

16 344701 |7Fo kv 1 16,000/O Pos. 17,18,19,20
17 340361 |Fwh O 7,500

18 340368 Vvl y— O ) 1,900

19 | 9971469 [0V O ) 1,900| A 35 X 2(F7my )
20 340358 |V UL O 3,600

21 341315 |75 Us s 1 11,000

22 340312 AR AT Y 1 2,600

23 344327 | ATV T THAR 1 1,200

24 340483 | Abr 1 11,900{ ¢ 20

25 344336 | R—ART 4T 1 4,200|NPS1/4

26 | 9920107 [‘FUviy— 6 210|M12

27 | 9900217 |AMARL 6 620[M12 X 60

28 | 9991954 |ESIEF 1 27,200[{0 ~ 40MPa

29 | 9970109 |[v—VUrTUyi p— 1 420[9.3 X 3.2 X 5.4

30 341702 |H:HHFRH—E ARV 1 8,000|@ Pos. 31,32,33,34,35,36,37
31 341347 |2—U T Ty r— ® (1) 1,400

32 341327 |HEHFAT—k @ (1) 4,600

33 9941501 |fpAR—L o) 2,700 ¢ 11

34 253405 |[ATVL T HFR) T o () 490

35 341326 | FRAT Y o) 820

36 | 9971470 |0V ® (1) 620|120 X 2+ (4 T
37 341328 Uo7 @) 620

39 341325 [T HAR 1 25,900

LC10012B

4
AR « i - MRS T ERKEET2HR/HVET, 2024.02



SF 23

A
WAGNER

A —

IC10013B
POS RS Ea B TEAM ik
340211 |reY—t vk 1 93,800|Pos.1 ~3+5~9

1 340372 |V v— (2) 670

2 19994957 |#A¥ (2) 9,900

3 19994950 |27 ¥ v (2) 690

4 19900378 [/NF Y hARL R 1 M6 X 30

5 9900336 |/~ ARV 2) 230[M6 X 40

6 | 9920733 [A~S—H— (2) 360

7 340303 |7viar=ah (2) 1,100

8 19920301 [EU v p— (2) 250|A8.4

9 19990866 | (2) 620

10 | 9994691 |7V~ 1 1,800

11 | 340360 |t°> 1 4,000

12 | 9900329 |74 /AR LR 1 210/M5 X 30
139920202 |7 v— 3 180[M5

14 | 9910106 [Tk 2 190{M5

15 | 252264 |=2oFF %) 1 6,900

16 55553 |74 NH—aL TS — 1 3,400

Ak - i - MR T ERKERT2ENHYET,

5

LC10013B

2024.02



SF 23

A
WAGNER

A9 —2 4ty SF23(P/N 2236262) - SF27(P/N 2236264)

5
/ p
@ ©
ID10002A
SF23
POS| /& 4 T TEAT 5
2236262 (7 A7V —r Bk 1 76,900(SF23
2 341275 (VA —rFa—7 (1) 8,800
3 344341 |7 4B — (1) 16,000{M28/1.0mm
4 55106  |HgA/XF (1) 3,200{41 mm
5 | 2236103 |HoTH 7 H— 1 2,800
6 43052 |Fv T U x— 2 400
L.D10002A
SEF27
POS S 4 $g: A ik
2236264 | AIIU—1twk 1 93,800|SF27
2 253211 (VH—rFa—7 (1) 11,200
3 341435 |7 4LH— (1) 18,700[M38/1.0 mm
4 55106  [HrA/XF (1) 3,200{41 mm
5 | 2236103 |[HrTHFH— 1 2,800
6 43052 |F T Ty r— 2 400
L.LD10003A

Ak - i - MR T ERKERT2ENHYET,

6

2024.02




SF 23

A
WAGNER

Y9 artyk (SF23/27/1500) 23 L

SF U —XifflmLTWzp 88 DT Q\@\“ ”°\
WIT 4L R—tw N, BEEERD ’
i Lfio s—é 3
BB ELT, ¢ 100Dty FET = 3
A XL, g_f S
(¢ 88DT AV R—LATY VT ﬁm/
~ > B 4 L7
VIS MISETHET ) K g J
s
@
Ty— ID10001A
POS R EA B TEA ik
1 252297 | AKR—AE Yk 1 28,700 ¢ 25 X 800 E=' 2
2230341 |[WAF—A v~ 19,400| ¢ 25 X 800 HHA L &>
2 1 ¢ 80 + fFAAN AT
2230342 (7T HF—TF b 7,800{ ¢ 100
3 252270 |UZ—LR—ATvh 1 10,100[ ¢ 12 X 800 H= 2
2230343 VX —17R—A vk 10,300| ¢ 12 X 800 BHHL-Zo
4 34602 [ A=V (1) 1,800
5 253426 |=A1F vk 1) 1,800
6 2240083 |[AR—A/S K-35 (2) 660[25 ~ 35
7 2240343 |[H—RATV (1) 2,800
8 9982430 | AKR—A (1) 16,000[ ¢ 25 X 800 H.= 2
2240078 | ATV T HR—A 15,500[ ¢ 25 X 800 1% ]
9 2240344 | A XA (1) 8,100
10 | 2241111 |VZ—2h—AH=v7 L (1) 940
11 | 2240018 |UH—17Rh—AHNAT Vb (1) 2,700
12 | 2240002 [&—AXK 25 (2) 770|117 ~ 25
2240022 |AR—ARR -20 78013 ~ 22
13 | 2230097 |[UH—17h—A (1) 7,300| ¢ 12 X 800 H=L
2240071 |AF Vo7 AR—A 6,100 ¢ 12 X 800 FHHHL %>
14 | 2240349 |UH—1 3/ (1) 3,100
15 (1) fFsASa]
16 219359 |[74/LZ— (1) 2,800(0.8mm ¢ 88
2240346 |74/ H— 2,800(0.8 mm ¢ 100
17 252398 |AZVL T (1) 2,300
2240347 ATV TV 2,100

1k -

7

i A T ERKEE T DHERDHVET,

SF suction
2024.02



